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ASQ(f)= Xgw C/(1+CAG) = Xgw C/(1+H)     H= open loop gain

“Response function” is T=C/(1+H), in counts/m or counts/strain
“Calibration function” is 1/T (strain/counts)

If C→α C, then T →α C/(1+α H) : not just a factor. 

If also C→α βC, then T →α C/(1+α β H) 

Calibration of S1 data 
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In progress:

• use LineMon results to extend calibration vs time to all 
other segments

• explore the use of the complex response of ASQ to 
excitation lines:

demodulate excitation signal from RDS files, and from 
AS_Q and DARM_CTRL, providing redundant information 
to prove consistency.

• Better models to extend the calibration fits to higher 
frequencies, and new S2 systems. 


